Week 13
Thursday 18th June 2020
Year 5- Varied fluency
Please click on this link for revision: https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/z2fkwxs
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Varied Fluency — Multiplying by 10, 100 and 1,000

Ta. Circle the correct answer to the
following calculation.

34x10=

3,400

%

Tb. Circle the correct answer to the
following calculation.

42x10=

420

4,200

heig

2a. Complete the calculation.

= 27 x 1,000

&

2b. Complete the calculation.

= 81 x 1,000

hig .

3a. Look at the number shown below.

3b. Look at the number shown below.

Th H T o

Th H T o

Multiply the number by 10. Draw

Multiply the number by 10. Draw

‘where the counters will be now. where the counters will be now.
Th H T o Th H T o
4a. Complete the calculation. 4b. Complete the calculation.
753 x = 7530 196 x = 13,400
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Varied Fluency — Multiplying by 10, 100 and 1,000

Sa. Circle the correct answer to the
following calculation.

5b. Circle the correct answer to the
following calculation.

521 x100= 842 x 100 =
5,210 52,100 25,100 8,420 8,240 84,200
L .

6a. Complete the calculation.

=838 x 10

6b. Complete the calculation.

= 4585 x 10

7a. Lok at the number shown below.

7b. Look at the number shown below.

Th H T o

Th H T [

Multiply the number by 10. Draw
where the counters will be now.

Multiply the number by 10. Draw
where the counters will be now.

Th H T o

Th H T [
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8a. Complete the calculation.

3567 x -

8b. Complete the calculation.

8856 x = 885,600

8
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Varied Fluency — Multiplying by 10, 100 and 1,000

9a. Circle the correct answer to the
following calculation.

7,956 10=

9b. Circle the correct answer to the
following calculation.

9,365 x 10=

79,540 | | 75,940

7,964

23,560

2375

23,650

*

hid

10a. Complete the calculation.

10b. Complete the calculation.

- 85276 x 1,000 = 3935 x 1,000
11a. Look at the number shown below. | 11b. Look at the number shown below.
Th [T [ H [T o Th[m [ R [T]o
o0 o 00 00 00| ©
Multiply the number by 100. Draw Multiply the number by 100. Draw.
where the counters will be now. where the counters will be now.
T[T ][] T o Th[m [ H]T]o
12a. Complete the calculation. 12b. Complete the calculation.
93,245 x = 932450 26395 x = 2,633,500
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